Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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USN 1SMAT21
Second Semester B.E. Degree Examlwa , Feb./Mar. 2022
Engineering Mathematlcs -1l
Time: 3 hrs. . ) Max. Marks: 80
Note: Answer any FIVE full questions, jon;, ’ éach module.
1 a. Solve g—z -6 gy +9y = 6e* -$7 e (05 Marks)
d’y . dy ‘v
b. Solve —5+ 3— +2y = 1,,+,,3x +x? (05 Marks)
dx dx W, p
c¢. Solve (D* + 1)y =2 cos x using method of undetermined coefficients. (06 Marks)
2 a Solve (D*+1)y= ”;s;nx sin2x « (05 Marks)
b. Solve (D +2)- (D-1)"y=e™ +2sinhx * (05 Marks)
c. Solve (Dz +1)y = tanx using the method of variation of parameters. (06 Marks)
3 a (05 Marks)
b. (05 Marks)
c. Solvey-2px= tan (xp ). (06 Marks)
Q‘L%"M Mm
5 dy
4 a o +(1+x) (05 Marks)
X

b. cy=2px+yp = (05 Marks)
B Solve (px -y) (py+x) = p by choosmg x =u and y* = v) by reducing into Clairaut’s form.
(06 Marks)

Modiile—3

" Form the pamal differential equatlon by eliminating the arbitrary constants from the relation

g ,@
X A y & Z%M

= 05 Mark
22 b2 y | ( arks)
e - oz
Solve = sin X sin yg-given that é; =-2siny when x = 0 and z = 0 when y is odd
multiple of 12‘- " (05 Marks)
. = N
Derive one ditnensional heat equation as e =C o (06 Marks)
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Form the partlal differential equation by ehmmat%g{ f?he arbltrary function given by

fix+y+ezx +y2+z) 0.

2

o'u  , 0% a
Solve o =c? FX using method of separatmg of variables.

4a 2ax

Evaluate J‘ I ing the'order of integration. @%»
Comy

0 x2/4a
Find by triple integration theVol

A

“1 ﬁfm%

Evaluateﬁ( )
& 62’)‘ 0 \/1 x2 -
Fmdififﬁ@%area lymg between the@g@abola y=4x -Xx anﬁhe line y = x.

o VI+x*

Evaluate _[

using | Be’cﬁ and Gamma functiohs

¢ oty

Find: L{sin’ 2t +12e"} _‘W

Find the Laplace transform of the peméﬁﬁ‘ function given b
N 4

e

Find the Laplzice transform of the ion using unit step function given that
2&? V<t<l
f(t) =

e‘,’ t>1

55+3 -

Fmd L—I {_—__w_

(s —1)(s* + 25 +5)

2 g
Solve ﬂ - dy
dt?

y=¢', y(0) =2, y'(0) = -1 using Laplace transform.

& K ok Kok ok

2 0f2

(05 Marks)

(05 Marks)

(06 Marks)

(05 Marks)

e of the sphere x* + y2 s z’ =1* with a as the radius.

(05 Marks)

(06 Marks)

(05 Marks)

(05 Marks)

(06 Marks)

(05 Marks)

(05 Marks)

(06 Marks)

(05 Marks)

(05 Marks)

(06 Marks)



